
Plusrechnen tot 100 000

Aufgabe 1

1. 40 235 + 17 597 =   

2. 31 651 + 19 490 =   

3. 23 597 + 12 632 =   

4. 48 843 + 15 778 =   

5. 35 420 + 23 552 =   

6. 30 551 + 15 147 =   

7. 31 839 + 29 591 =   

8. 24 113 + 10 890 =   

9. 35 639 + 27 770 =   

10. 36 829 + 19 580 =   

Aufgabe 2

1. 33 885 + 18 426 =   

2. 30 288 + 23 728 =   

3. 42 643 + 35 679 =   

4. 37 123 + 32 689 =   

5. 43 825 + 42 380 =   

6. 14 518 + 10 746 =   

7. 36 441 + 17 205 =   

8. 23 949 + 22 951 =   

9. 33 804 + 13 065 =   

10. 45 125 + 15 899 =   

Aufgabe 3

1. 47 523 + 13 148 =   

2. 36 118 + 10 490 =   

3. 21 353 + 11 633 =   

4. 40 031 + 35 060 =   

5. 34 029 + 20 992 =   

6. 48 488 + 42 587 =   

7. 48 259 + 17 510 =   

8. 27 771 + 14 572 =   

9. 32 390 + 17 582 =   

10. 38 412 + 32 819 =   

Aufgabe 4

1. 17 815 + 13 663 =   

2. 27 195 + 11 726 =   

3. 36 661 + 28 895 =   

4. 28 318 + 27 971 =   

5. 32 697 + 13 465 =   

6. 35 256 + 24 811 =   

7. 36 291 + 24 256 =   

8. 26 037 + 18 677 =   

9. 44 868 + 26 183 =   

10. 46 069 + 31 849 =   
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Plusrechnen tot 100 000
| ANTWORTEN

Aufgabe 1

1. 40 235 + 17 597 =  57 832

2. 31 651 + 19 490 =  51 141

3. 23 597 + 12 632 =  36 229

4. 48 843 + 15 778 =  64 621

5. 35 420 + 23 552 =  58 972

6. 30 551 + 15 147 =  45 698

7. 31 839 + 29 591 =  61 430

8. 24 113 + 10 890 =  35 003

9. 35 639 + 27 770 =  63 409

10. 36 829 + 19 580 =  56 409

Aufgabe 2

1. 33 885 + 18 426 =  52 311

2. 30 288 + 23 728 =  54 016

3. 42 643 + 35 679 =  78 322

4. 37 123 + 32 689 =  69 812

5. 43 825 + 42 380 =  86 205

6. 14 518 + 10 746 =  25 264

7. 36 441 + 17 205 =  53 646

8. 23 949 + 22 951 =  46 900

9. 33 804 + 13 065 =  46 869

10. 45 125 + 15 899 =  61 024

Aufgabe 3

1. 47 523 + 13 148 =  60 671

2. 36 118 + 10 490 =  46 608

3. 21 353 + 11 633 =  32 986

4. 40 031 + 35 060 =  75 091

5. 34 029 + 20 992 =  55 021

6. 48 488 + 42 587 =  91 075

7. 48 259 + 17 510 =  65 769

8. 27 771 + 14 572 =  42 343

9. 32 390 + 17 582 =  49 972

10. 38 412 + 32 819 =  71 231

Aufgabe 4

1. 17 815 + 13 663 =  31 478

2. 27 195 + 11 726 =  38 921

3. 36 661 + 28 895 =  65 556

4. 28 318 + 27 971 =  56 289

5. 32 697 + 13 465 =  46 162

6. 35 256 + 24 811 =  60 067

7. 36 291 + 24 256 =  60 547

8. 26 037 + 18 677 =  44 714

9. 44 868 + 26 183 =  71 051

10. 46 069 + 31 849 =  77 918
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